CHAPTER 3: PREPARING FINANCIAL STATEMENTS

I. TIMING AND REPORTING

A. The Accounting Period
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Accounting (Reporting) periods—length of

time covered by financial statements.

Most companies use a year as their primary accounting period.

Annual financial statements—reports covering a one-year period.

Interim financial statements—covering one, three, or six months of activity.
Many companies prepare interim financial statements.

Calendar year—January to December.

Fiscal year—consisting of any 12 consecutive months.

Example: Gap’s fiscal year starts in February of one year and goes till the end of January
the next year.

Natural business year—businesses will end their year at theirlowest level of the year.

When financial statements are prepared, to kee p statements accurate within this time
period assumption, certain adjustments need to be made to the statements.
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s EXAMPLE: Youare the ownerof a heavy construction company that does major, long-
term projects. You sign a contract to build the new school indoor pool facility.

The cost of the building is $1,000,000 and it is built over 2 years (2010 and 2011).

You receive $900,000 of the proceeds in 2011 when the building is done, but on fiscal
year December 31, 2010 you prepare your 2010 financial statements to renew your
insurance with the bonding company.

So, how much revenue would you report in 2010?

If you only reported the $100,000 ($1,000,000-900,000) in 2010 you most likely would be
GROSSLY UNDERSTATING your revenue for the year.

When we divide business activitiesinto arbitrary fixed periods of time, it is often
necessary to have special accounting for transactions that cross from one time period to
the next.

B. Accrual verses Cash Basis

1. Accrual Basis Accounting _ _
% Accrual Basis vs. Cash Basis
% It uses the adjusting process torecognize
revenues whenearned and expenses when
incurred (matched with revenues).

Accrual Basis Cash Basis

Revenues are
recognized when
earned and expenses
o ) : : : are recognized when

% It’s a system of accounting in which revenues Ty

and expenses are recognized when they are

earned and incurred as opposed to when cash is
. . Accounting
actually received or paid. J‘EJ&;\

% It better reflects business performance.

% It alsoincreases the comparability of financial statements from one period to another.
2. Cash Basis Accounting

% Recognizes revenues when cash is received and records expenses when cash is paid.

% Up until now, we have focused on cash basis accounting, whichis used for some small

businesses where the difference would be immaterial for tax purposes, but is not
GAAP.
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% Cash basis is not consistent with GAAP.

®
%

Is useful for several business decisions—whichis the reason companies must report a
Statement of Cash Flows.

2. Accrual VS Cash Example

Accrual Example:

FastForward paid $2,400 for 24 months of insurance coverage beginning on December 1
20009.

Accrual requires that $100 of insurance expense be reported on December’s Income

Statement. Another$1,200 of expense is reported in year 2010. The remaining $1,100 is
reported as expense in the first 11 months of 2011.

The accrual basis Balance Sheet reports any unexpired premium as a Prepaid Insurance
asset.

Accrual Accounting for Allocating Prepaid Insurance to Expense
(/ T—ranucuon:

| Paid $2,400 for
24 months'

Insurance Expense 2010

Jan Fod My Apr
S100 S0 S s100

Insurance Expense 2011

Jor  Feb  Mar o Aoe |
$100  $100 $100 8100
insurance e AN AGs
beginning $100 S0 s100  $100

Dec. 1, 2009

Mey Jme Ay Ay
$100 $t0 S0 $100
Sept  Oot Nov  Dec
5100 S0 10

Sept Oct Nov Dec
S100 SI0  S10  S100

o
Cash Basis Example:

A cash basis Income Statement for December 2009 reports Insurance Expense of $2,400
The Income Statements for years 2010 and 2011 report NO Insurance Expense

The cash basis Balance Sheet NEVER reports an insurance asset because it is
IMMEDIATELY expensed.

The cash basis income for 2009-2011 FAILS to match the cost of insurance with the
insurance benefits received for those years and months.

Cash Accounting for Allocating Prepaid Insurance to Expense

| Transaction: Vo o IRy ; )
| Paid $2.400 for Insurance Expense 20090 Insurance Expense 2010 mwmr
b ¢ dan Fed M Ao | Jan  Fed  Ma Fed> Ao
24 months P y o 0 0w o S0 2
/ insurance » / May Jne Ay A u.,, mo v y A
beginning P N 04
Sept  Oct Now Dec ¢ a., Nov  Dec
/ Dec. 1, 2009 P 20 % <0

0
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C. Recognizing Revenues and Expenses

% With ACCRUAL BASIS, we recognize REVENUE when the product or service is delivered
to our customer.

% Under the ACCRUAL BASIS, EXPENSES are recognized in the same period as the
affiliated sale.

% The adjusting process helps us match the expenses incurred to generate the revenue
recorded from the sales transaction.

s We rely on two principles in the “adjusting process”: Revenue Recognition and Matching.

1. Revenue Recognition Principle

* Revenue Recognition

% Requires that revenue be recorded
WHEN EARNED, not before and not
after.

We have delivered the
product to our customer,
so | think we should record
the revenue earned.

% The goal is to have the revenue reported
in the time period whenitis earned.

< Revenue is recognized on the books of a
company when two criteria are met:

1) The earnings process is substantially complete.
2) Cashhas eitherbeen collected or the collectability is reasonably assured.

2. Matching Principle

% Aims to record expensesin the same T Recognizing Expenses
accounting period as the revenues that are
earned as a result of those expenses. * Revenue Recognition
» Matching

% Matching expenses with revenues often " cy;’"::z‘:;“ﬂ:? et A

requires us to predict certain events. "t Expenses o let’s see what expenses
* Ren 000 *ff we incurred to
* Gasoline ) generate that revenue.
* Advertising \f b - 4

+ When we use financial statements, we must s 000 ¢ ‘j‘ ]‘}:\ -
’ _ - vt 8

understand that they require estimates and ——

therefore include measures that are not 2 2 f‘

precise. _—
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« The concept that ALL costs and expenses that are incurred to generate revenues
must be recognized in the same period as the revenues.

II. ADJUSTING ACCOUNTS

+ Adjusting Entry—is recorded to bring an asset or liability account balance toits proper
amount; it alsoupdates a related expense or revenue account.

1. Framework for Adjustments Framework for Adjustments

Adjustments

% Adjustments are necessary for
. Paid (or received) cash before
transactions and events that extend over expense (or revenue) recognized
more than one period.

Paid (or received) cash after
expense (or revenue) recognized

Prepaid Unearned Accrued Accrued
(Deferred) (Deferred) expense revenues
% At the end of the accounting period, which sxpenses! IBVSINEE

; ‘ o —
is generally the end of the fiscal year, to eluding depreciton

comply with GAAP and accrual accounting—>companies make adjusting journal entries in

order to reconcile income and expense recognition WHEN EARNED AND INCURRED
according to GAAP, not necessarily when cash is received or paid.

% All adjusting entries ultimately fall into one of 4 different categories as shown on the
above graphic.

2

«» There are two broad categories of adjustments:

1) When we pay or receive cash BEFORE the expense or revenue is recognized. This
category includes prepaid or deferred expenses (including depreciation), and unearned
or deferred revenues.

2) When cashis paid or received AFTER the expense or revenue is recognized. These are
some very common adjustments. The category includes accrued expenses and
accrued revenues.

2. Prepaid (Deferred) Expenses

Here is the check

% Are items paid for in advance of receiving their

. ' Resources paid LN
benefits. | for prior to
receiving the
< You pay for something before it provides you a actual benefits.
benefit.
Unadjusted Credit Debit
o nBaaI;lr‘::: Adjursetrrllent' 'Ad’u:trlnent

% Prepaid expensesare assets. When these
assets are used, their cost becomes expenses.
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% A prepaid accountis an asset, because when one pays an expense, you are giving
somethingup that you own, so when making an adjusting entryto recognize a prepaid
expense you are just reclassifying cash (an asset) that is paid out to another type of asset
(prepaid).

% You still own the cash even though the vendor has it, because the service that justifies
the expense has not been performed yet.

Adjusting for Prepaid Expenses

Decreased Increasoed

Asset Expense

Unadjusted dit
balance djustment

Adjustegy
Entry

1. Prepaid Insurance {Adjustment (a)}

% EXAMPLE: On December 1, we have to make a journal entry torecognize the cash
paid out. Since we still OWN the cash, our total assets should not drop. We need to
reclassify the cash paid to a Prepaid Expense as follows:

December 1 Prepaid Insurance 12,000

Cash 12,000
Paid a 6 month insurance policy in advance.
**This is the INITIAL ENTRY when you paid for the insurance in advance.. NOT
the adjustment.

Insurance

mcord asset

Dec-¢  Purchese ineuraos and At the end of the year (Dec. 31), 1 of the 6 months of the insurance policy has

beenused. Therefore the insurance company has earned 2/6 of the policy

premium, or $2,000. So we need to recognize an expense for the portion expired
and decrease our asset (prepaid) as follows:

Dec. 31 Coverage oxpires and
eoord exponse

December 31 Insurance Expense 2,000
Prepaid Insurance 2,000
To adjust & record insurance expense for 1 month.
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% See the graphic below for the actual adjustment {Adjustment (a)}

On December 1, 2007, Scott Company paid $12,000
to cover rent for December 2007 through May

2008. Scott recorded the expenditure as Prepaid
Insurance on December 1.

What adjustment is required?
Dec. 31 Insurance Expense 2,000
Prepaid Insurance 2,000
To record first month's expired Insurance

Prepaid Insurance (14 Insurance Expense 128
Dec.1 12,000 | Dec. 31 2,000 Dec. 31 2,000

Bal. 10,000 |

2. Supplies {Adjustment (b)}

K/

% Supplies works in the same manner.

During 2007, Scott Company purchased $15,500 of
supplies. Scott recorded the expenditures as

Supplies. On December 31, a count of the supplies
indicated $2,655 on hand.

What adjustment is required?

Dec. 31 Supplies Expense 12,845
Supplies 12,845
To record supplies used during 2007
Supplies 126 Supplies Expense 652
Bought 15,500 | Dec. 31 12,845 Dec.31 12,845
Bal. 2,655|
Supplies
% At the beginning of the year, this company purchases (owed) Doc. 28,26 Purchase suppes

and record asset

$15,500 of supplies.

% When the company owns supplies, they are assets and go on ‘ :

Dec, 31  Supples used and
the balance sheet. ol e

% As these supplies are used, the company no longer owns them and must remove them
from the balance sheet.

% The adjusting entry removes the assetused off the balance sheetand decreases the
company’s net worth (equity) through and expense—supplies expense.
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3. Depreciation {Adjustment (c)}

% Plant asset—long-term tangible assetsused to produce and sell products and
services.

% Plant assets are expected to provide benefits for more than one Depreciation

per]-Od Doc. 3 f’\n.m:u’\_x:'«'utlmnl and
% Examples: buildings, machines, vehicles, and fixtures. ,,‘,'_{rx-‘ :E; [f{{‘,
i =4 e
% All plant assets eventually wear out or decline in usefulness. e

r—

% EXCEPTION: Land

v Depreciation—is the process of allocating the costs of these assets over the expected
useful lives.

% Depreciation is recorded with an adjusting entry similar to that for other prepaid
expenses.

% Straight-line depreciation—allocates equal amounts of the asset’s net cost to
depreciation duringits useful life.

% Straight-line depreciation is Straight-Line Asset Cost - Salvage Value
the most popular method Depreciation = :
used by companies. Expense Useful Life

% Theydetermine the amount of annual depreciation by taking the cost of the plant
assets, subtracting the estimated salvage value and dividing that amount by the
useful life of the asset.

% Salvage value—an asset’s expected value when we dispose of it at the end of its useful
life.

Example: Dividing the $18,000 net cost by the 48 months in the asset's useful life gives a
monthly cost of $375 ($18,000/48).
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The following highlights the adjustment for depreciation: {Adjustment (c)}

Adjustment (c)
Dec.3l - Depreciation Expense. . . . ’ 375 Assl Liabiliies +  Equity
7~ Accumulated Deprecation—Equipment . : 375 ~—33
To record monthly equipment depreciation, -

Depreciation Equipment Accumulated
Expense —Equipment Dec. 3 26,000 Depreciation—Equipment
= Doc. 31 375 Dec. 31 375 =
Before Adjustment Adjustment After Adjustment
Equipment, net = $26,000 Deduct $375 from Equipment, net Equipment, net = $25,625

Add $375 to Depreciation Expense

Reports $26,000 in equipment Record $375 in depreciation and $375 as Reports $25,625 in equipment,
accumulated depreciation, which is deducted | net of accumulated depreciation,
from equipment.

o

% Contra account—is an account linked with another account, it has an opposite
normal balance, and it is reported as a subtraction from that other account’s balance.

% Accumulated depreciation is kept in a separate “contraaccount” called Accumulated
Depreciation.

Accounts after Three Months of Depreciation Adjustments

Accumulated
Dec. 3 26,000 Depreciation—Equipment
Dec. 3| 375
Jan. 31 375
Feb. 28 375
Balance 1,125

% Book value (net amount)—equals the asset’s cost lessits accumulated depreciation.

Equipment and Accumulated Depreciation on February 28 Balance Sheet

Cash 3

Equipment $26,000 Commonly titled
Less accumulated depreciation 1,125 24,875 € Equipment, net
Total Assets $
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4. Unearned (Deferred) Revenue {Adjustment (d)}

% Unearned (deferred) revenues—refers to cash
received in advance of providing products and

oF =y

Buy your season tickets for

providing all home basketball games NOW!

services. products or —— N
Sorvicea: I Go Big Blue 1
% They are liahilities. —
'Debit Unadjusted f:redit
< You collect money before you earn it. A"‘“‘[f'“"' R A"‘”‘I""""‘

¢

*

EXAMPLE: you are alandscaper, and a

*,

customer of yours goes to Italy for a two month vacation. Before your customer goes,
s/he gives you $100 cash to cover all grass cuttings while gone.

Uneamed Revenues
You can’t recognize it until you actually earn it, until you earn it, Doc. 26 Cash raceived in advance

and racord Kabxlity

you might have the $100, but it’s not yours.

Since itis not yours and is still your customers, even though it’s in \

your possession, it’s a liability to you until you cut the grass and Dec. 31 Provided servicss and
. recoed "

earnit. Hence, unearned revenue. ANz

Since you’re increasing a liability, you would have to credit the account as follows:

December 10 Cash 100
Unearned Revenue 100
Received revenue in advance.

AFTER you collect the money, you CUT THE GRASS one time a week later, it costs the
customer that paid you in advance $10 per cutting. Therefore, $10 of the unearned
revenue that you collected becomes revenue actually earned. Here’s the journal entry:

December 20 Unearned Revenue 10
Revenue 10
Adjusting entry to recognize revenue for one grass
cutting.

5. Accrued Expenses

+ Accrued expenses—referto costs that are incurred in a period but are both unpaid and
unrecorded.
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®
%

®
%

They are expenses that are incurred during the

accounting period, but the cash has not been
paid out at the end of the period. period that are

Since the cash is not paid out, you owe it as of 2
the end of the year and have generated a
liability (the credit half of the journal entry).

They must be reported on the income
statement of the period when incurred.

We're about one-half
done with this job and
want to be paid for
our work!

Costs incurred in a

both unpaid and

2
unrecorded.

‘ Debit Credit

Adjustment Adjustment

Example: Payroll (Salaries) Expense

For all accrued expense adjusting entries, we debit, or increase an expense account, and
credit, or increase, a liability account.

Accrued Salaries Expense {Adjustment (e)}

R/
0‘0

EXAMPLE: Barton,Inc. pays its employees every Friday. The current yearend,
December 3 ISt’ 2007’ falls on a Barton, Inc. pays its employees every Friday. Year-end,

Wedne sday, 12/31/07, falls on a Wednesday. As of 12/31/07, the
| employees have earned salaries of $47,250 for Monday
1 through Wednesday of the week ended 1/02/08.

As of December 31, 2007, the employees

have earned salaries of $47,250 that will Last pay Nextpay
not be paid until the following Friday, . 12126107

January 2, 2008.

1/2/08
L

12/1/07 12/31/07 Record adjusting
Year end journal entry.
We need to record an adjusting entry on

December 31, 2007, to recognize the salaries earned by employees but not paid.

In our adjustingjournal entry we will debit, or increase, salaries expense and credit,
or increase, salaries payable.

After the adjustment, salaries expense for 2007 is stated properly.

Salaries expense recorded during the year
amounted to $657,500. After postingour
adjusting entry, the new balance at the end of :

the yearis $704,750. Dec. 31 Salar:j:::::';?yable i 47,250

To accrue 3-days' salary

Salaries Expense Salaries Payable
. . . . Other salaries ec. y
The salaries payable account will be eliminated Seinte ‘D i
Dec. 31 47,250

when the employees are paid on January 2, Bal. T047s0]
2008.

Barton, Inc. pays its employees every Friday. Year-end,
12/31/07, falls on a Wednesday. As of 12/31/07, the
employees have earned salaries of $47,250 for Monday
through Wednesday of the week ended 1/02/08.
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6. Accrued Revenues

i Revenues earned Yes, I've completed your
++ Accruedrevenues—refersto revenues earnedin a in a period that o fiad
- . ] are both L yoLy
period that are both unrecorded and not received in soprieniaid il
not yet received.

cash (or other assets).

Revenue

Debit Credit
Adjustment Adjustment

% Example: a technicianwho bills customersonly when
the job is done. If one-third of a job is complete by the
end of a period, then the technician must record one -third of the expected billing as
revenue in that period—even though there is no billing or collection.

1. Accrued Services Revenue {Adjustment (f)}

& Accruedrevenuesare not recorded until adjusting entries are made at the end of the
accounting period.

Smith & Jones, CPAs, had $31,200 of work
completed but not yet billed to clients. Let’s make

& Theyare earned by unrecorded because either the  |RidlSaltiathieistinAdibraindiill
the end of the company’s fiscal year.
buyer has not yet paid for them or the seller has

Dec. 31 Accounts Receivable 31,200
not yet billed the b’uyer, Service Revenue 31,200
To accrue revenue earned
Accounts Receivable Service Revenue
& To record accrued revenue, we will always debit, N e T 61569,500
Dec.31 31,200 Dec. 31 31,200
Bal . 6,620,700

or increase, an assetaccount and credit, or Bal. 1,sss,4ss|
increase, a revenue account.

& Example: common accrued revenues are interest on CD’s and investments.

& EXAMPLE: Youown a snowplowing business. You plow a customer’s driveway on the
last day of the accountingperiod (12/31) but you don’t send out the bill until the next
period (after 1/1).

The snowplower would want to recognize the revenue on 12/31, when s/he actually
performed the service. Since no cash hasyetbeen collected, we must make an
adjusting entry to recognize this revenue.

Assume it cost $20 to plow the driveway, the journal entry is as follows:
December 31 Accounts Receivable 20
Snowplowing Revenue 20

To adjust and record revenue earned but not received.

Since you have earned value, but you still have not received cash, you have generated
a new asset (receivable), the debit half of your journal entry.
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Summary of Adjustments and Financial Statement Links

Category

BEFORE Adjusting

Balance Sheet

Income Statement

Adjusting Entry

Prepaid expenses’

Asset overstated

Equity overstated

Unearned revenues’

Liability overstated

Equity understated

Accrued expenses

Liability understated

Equity overstated

Accrued revenues

Asset understated

Equity understated

Expense understared

Revenue understated

Expense understated

Revenue understated

Dr. Expense
Cr. Asset*
Dr. Liability
Cr. Revenue
Dr. Expense
Cr. Liability
Dr. Asset

Cr. Revenue

* For depreciation, the credit is to Accumulated Depreciation (contra asset).

T Exhibit assumes that prepaid expenses are initially recorded as assets and that unearned revenues are initially
recorded as liabilities.

7. Adjusted Trial Balance _
- FastForward - Trial Balance - December 31, 2007
& The adjusted trial balance Unefjuisiad Arjussct
. Trial Adjustments Trial Bal
combines the Dr. Cr. Dr. cr. Dr. cr.
« . N Cash 3.950 3,950
unadjusted” trial balance [accountsreceivabie : T 1,800 1,800
. Supplies 9,720 b 1,050 8,670
account balances with the krapald insurance 2,400 a 100 2,300
. Equipment 26,000 26,000
adjustments we make. Accum. depr. - Equip. : c 5 7
[Accounts payable 6,200 6,200
Salaries payable = e 210 210
R |Unearned revenue 3,000 | d 2650 2760
& Be careful when doing Common Stock 30,000 30,000
Retained Earnings - -
the math! Dividends 500 500
Consulting revenue 5,800 d 250 7,850
1,800
Rental revenue 300 300
& For example, look at R0 - : 16 = 75
. Salaries expense 1,400 e 210 inally, the 1,610
Entry b. Itis the entry to Insurance expense - a 100 totals are 100
] . Rent expense 1.000 determined. [1.000
adjust the supplies Suppliesexponss - 5 1,050 1,050
. Utilitics expenss 230 230
account for the physu:al Totals $45,300 $45.300 $3.785 $3.765 $47.685 $47,685
inventory takenat the
year end.
& The supplies account on the “unadjusted” trial balance is $9,720. Our adjustment
reduced the supplies on hand, so the adjusted trial balance account is $8,670.
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III.CLOSING PROCESS
@) Temporary and Permanent

A. Temporary and Permanent Accounts Accounts

Temporary (nominal) accounts accumulate data related to
one accounting period. They include all income statement

accounts, the dividends account, and the Income Summary

O Temporary (or Nominal) accounts—are income account. These accounts are “closed” at the end of the period
to get ready for the pext accounting period.
statement accounts that get closed out at the end of
the period.

Permanent (real) accounts report activities related to one or
< They are temporary accounts that are brought to zero more future accounting periods. They carry ending balances

to the next accounting period and are not “closed.”

at the end of the accounting cycle.

& Theyinclude: all income statement accounts, the dividends account, and the Income
Summary account.

& Permanent (or Real) accounts—are balance sheet accounts whose account balances are
from the end of one period are carried over into the next period.

& Retained Earnings are accumulated income from prior periods.

& At the end of the accounting cycle, we must make one final adjustment to move the
accounts that make up income intoretained earnings hence; we must zero out all income
statement accounts (revenue and expense) and move their balance toretained earnings.

& The income statement accountsthat get closed out at the end of the period.

& The assets, liabilities and equity accounts are NOT CLOSED.

B. Recording Closing Entries =y Recordlng CIOSIHg Entrles
& You MUST follow these steps IN
ORDER, or there will be much 1. Close revenue accounts.
confusion.

2. Close expense accounts.

1. Step 1: Close Credit Balances in 3. Close the income summary account.
Revenue Accounts to Income

Summary 4. Close dividends account.
& We close all revenue accounts into ] I
the Income Summary account. - \
—
& We move the balance in all L\/

revenue accounts from the account to the Income Summary.
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& This process will cause all revenue accounts to have a zero balance.
& Remember that revenue accounts normally have a credit balance.
2. Step 2: Close Debit Balances in Expense Accounts to Income Summary
& We close all expense accounts to the Income Summary account.
& This will zero out all of our expense accounts.
& Expense accounts normally have a debit balance.
3. Step 3: Close Income Summary to Retained Earnings

& The Income Summary account will show revenues and expenses, or in other words,
the netincome.

& We must close the Income Summary account which contains the netincome.
¢ This process will zero out the Income Summary account.
4. Step 4: Close Dividends Account to Retained Earnings
& We then close the dividends account to the retained earnings account.
& This will cause the dividends account to have a zero balance.
C. Post-Closing Trial Balance

& Post-closing trial balance—is a list of permanentaccounts and their balance from the
ledger after all closing entries have been journalized and posted.

D. Accounting Cycle Summary
& Accounting cycle—refers to the steps in preparing financial statements.
& Itis called a“cycle” because the steps are repeated each reporting period.
& This followingis a schematic of the entire accounting process. Some of the steps, like the

preparation of reversing entries have been omitted from this course because they are
optional.
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= The Accounting Cycle

Start
S [ Revese e
A (optional) B 9
nalyze trial balance
transactions
;
Prepare
statements
t
Prepare Prepare
unadjusted Adjust adjusted
trial balance trial balance

IV.CLASSIFIED BALANCE SHEET

o Unclassified balance sheet—is one whose items are broadly grouped into assets, liabilities,
and equity.

o Classified balance sheet—organizes assets and liabilities into important subgroups that
provide more information to decision makers.

A. Classification Structure

 Operating cycle—is the time span from when CASH IS USED to acquire goods and
services until CASH IS RECEIVED from the sale of goods and services.

& Operatingreferstocompany operations.

& Cycle refers to the circular flow of cash used from company inputs and then cash received
from its outputs.

B. Classification Categories

1. Current Assets

o Are cash and other resources that are expected to be sold, collected, or used within
one year or the company’s operating cycle, whichever is longer.

2. Long-Term (or Noncurrent) Investments

& Examples: notes receivable, investments in stocks and bonds, and land
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3. Plant Assets

& Are tangible assetsthat are both long lived and used to produce or sell products and
services.

& Examples: equipment, machinery, buildings, and land
4. Intangible Assets

& Are long-termresources that benefit business operations, usuallylack physical form,
and have uncertain benefits.

& Examples: patents, trademarks, copyrights, franchises
5. Current Liabilities

& Are obligations due to be paid or settled within one year or the operating cycle,
whicheveris longer.

& Theyoften include: accounts payable, notes payable, wages payable, taxes payable,
interest payable, and unearned revenues.

6. Long-Term Liabilities
& Are obligations NOT due within one year or the operating cycle, whichever is longer.
& Examples: notes payable, mortgages payable, bonds payable, and lease obligations
7. Equity

& Are Common Stock and Retained Earnings.
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